
Действия с 

целыми 

числами



-9 + (-3) 
=

12

6

-6
-1
2

Найдите  правильный
ответ



Найдите  правильный
ответ.

- 13 + (-3) =

10
-1
0

16 -1
6



-48 + 48 =
96-9

6

16
00



Выполните   умножение.
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Игра «Строители»



15 + (-2)1 вариант 2 вариант

-19 + …

-14 + …

33 + …

…+ (-60)

… + (-3)

-50

… + (-13)

… + (-70)

… + 49

14 + …

-45 + …

-52

Сравнит
е

>



Не  выполняя  арифметических  
действий,  сравните  значения  

выражений.
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Игра «Дешифровщик»

Задание: вычислите:
1) (34 – (–51)) : (78 – 95)
К (1) М (5) Й (–5) О (–1)
2) (58 – 85) : (45 – 54)
А (–9) Е (3)О (9) Л (–3)
3) (–28 – (–49)) : (47 – 68)
Г (–7) М (–1) С (1) Н (–2)
4) (–42 – 24) : (18 – 51)
А (–3) И (–1) У (–2) Е (2)
5) (–8) · (–14) : (16 – 44)
Н (–4) Л (–2) К (2) Р (4)
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